O BRERBITTER

P e 90.44126 x 3/8Washered Hex Head Scew (10)

< : -
=1 _—
iy g _

90.6502 Housing Top

90.4315 6-32 x 3/8 Phillips SS Screw (4)

90.6423 Dust Cover

90.4028 6-32 x 3/4" Bolt (10) i ¢
95.7003 Power Supply /

90.6958 1/4" Plastic Spacer (4) /
4 9 ]

90.4246 Cap Holder (4)
/ 23.0203 Lens (3)

90.4178 6-32 x 2 1/2" Bolt (6) 23.7121.C Strobe Assanbly (3)

/ 95.2325 Extension Wire

- T

95.2308 Aluminum Plate

90.6910 OMP Grommet (2)

90.4136 6-32 Lock Nut (12)

90.6503 Housing Bottom

90.4150 Lock Nut (8)

90.4520 3/8 x 1" SS Washer (8)
40.0161.BLK 18" 16 Ga

40.0161.RED 18" 16 Ga / )\

90.6871 Strain Relief Bushing

90.6729 AMP Connector

90.4080 Hex Head Bdlt (8)

90.4958 Mounting Bracket (2)

Colors available in Amber, Blue, Clear, Green,
Purple and Red. Split Domes also available.

ATINDI1T BEUDER) V') —X
DPLZEICZDIANDN - 51 5/N—

i .

170mm

(J 12Volt 5.8 Amps / 60 Watt

0170 x 580 x 180 mm / 3 Kg

O ARZANOMNR 3MTEST LFEHHIHE
OFBEDS1E - YRTL 2BETY,
OBELVAB . K& &% -5H

Minic ™D .23

| Copyrighted : 1997- Minion Incorporated - Tokyo

Minion Incorporated / Minic SysTech

35-2, Kitasenzoku 3 Chome, Ohtaku Tokyo 142-0062 JAPAN
Tel.: 8133726 4321 Fax.: 8133726 4324

Product Name Date

LIGHT FORCE Strobe Light Bar | 03 02/05

Drawing No. Scale

Installation Sheet

http:// www.minic.co.jp



